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First, weneed to find fim = Innniﬂ'odnﬂ)iswenbﬁlﬁnr&nddsoﬂnlﬂ(ﬁ(% Why are we able to do this?

2) Find the area of 40P
) Find the area of sector OAP.

) Find the area of s0AT

d) Set up an inequality with the three areas from parts a, b, and c.

o Divltleallﬂ.uupzﬂshy%smﬂ, Why do the inequality signs stay the same?

1) Make the middle term # Hint: 1f your middle term doesn’t look anything like this, start over! ©

£) Use the Sandwich Theorem to show that hg%o:l

n) Shawﬂmf{ﬂ}:%ﬂ is an even function.
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9) Since £(6)

3) Explain why we can conclude that 1.5“%5:1,




